ERF.p

ELESA & @] %

i BRSO AR B ALAT F AW

B A B R e o A (PA) B RHBOR & AT R F R AT A0

- RKEREE, TREDWE, WEF. b, diAXEAtFE
o

- BERTEIER, TR, FEUNIKRMTISO47TS3M .,

MW THEFH, miFeARIEFER, #AEREARERH,
WELLHE,

N
N T T L Y

i
A
T
=
' !
l E
! 4
d
() o000 00—m - —— - ) - = I
"
L
Tl EFR~F TIFL =58
(R A = R L D H h1 ha l1 d &g | g
232116 - C1| ERF.44 p-M6x16 - C1 44 He 15.5 206.5 19 19 11 M6 16 13
232136 - C1| ERF.63 p-M8x25 - C1 63 735 19 35 245 26.5 13.5 M8 25 32
232156 - C1| ERF.78 p-M10x30 - C1 78 90.5 23 42 295 32 16 M10 30 61
232176 - C1| ERF.95 p-M12x50 - C1 95 109 26.5 5.5 34 40 18 M12 20 85

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘€lesa-BANTIR )




